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Jdwpswywl pjnobh nmnwpbuygpeh wgwun duwgnpnp Ywagunwd £ 86369.9 hwiq npwd,
$nunuwyjhl pjnoth lnwptuygeh wquun duwgnnpnp Yuagunwd £132921.4 hwg npwd:
Jdwpswywl pjnobh nmwpbuygpeh wgwwn duwgnpnp wdpnnonyhl hwunuwglbg
$nunuwyjhl pjnet, $nunwjhl pjnobh mwpuygpeh wgwwn duwgnpnp Yihuh 219291.3 hwg npwd:
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5122- hnnwdp wybkjwguk| 20000,0 hwg npwdny 20000
5134- hnnwdp Ypdwwnb 130 000,0 hwq npwuny -130000

1 pwdUh 6 hudph 1 nwuhg

4637 -hnnwdp Ypbwwnk 911,0 hwg npwdny -911
4241- hnnywdp Ypbwwnk 300,0 hwg npwdny -300
4269- hnnywdp wybwglt] 3211,0 hwg nphwuny 3211

1 pwdUh 3 hudph 3 nwuhg

4232- hnnywdp wybwuglt] 1870,0 hwg nphwuny 1870

4 pwdUuh 2 fudph 1 nwuhg
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4511-hnnywdp wybwyduk 30000,0 hwq npwdny

10 pwdUh 7 judph 1 nwuhg

4729-hnnywdp Ynpbwuink 7000,0 hwg npwdny
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